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Name: _ | _
1. Calculate the perimeter of this figure. - 3. Find the areas of these ﬁgure?:s, giving your

21m { answers to the nearest 0.1 m”.
\ a. - b.
127m
68 m /

23m

8.6 m
N 1-84m

. 127 m <Z/__,

ol 85 cm
. | @

2. Chris has made a circular cushion of radius
20 cm.

Lace to be attached around the outside
edge needs to be 2% times the length

before being gathered up to fit. What
length of lace is needed before it is
gathered? (Answer to the nearest cm.) S .
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4. A kite is inscribed in a rectangle whose ¢ 7. Find the area of the regular octagon, to the
dimensions are 70 cm and 33 cm. What is nearest 5 cm’. e
the area of the kite? ’

5

5. A rhombus has an area of 86 cm’. One o
diagonal is 12.9 cm long. Find the length of
the other diagonal.

6. The figure below has been cut out of a
circular sheet of cardboard of radius 15 cm.

4

a. Calculate the perimeter, to 4
significant figures.

b. Calculate-the aréa, to 1 decimal place.

{
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Name:  Reneio Lowe. Q44

1. Calculate the perimeter of this figure.

3. Find the areas of thes

fi
answers to the nearest 0.

2-1m Zf+§§+zz _ (0.3 ane) >
6-8m 23m
9.6m sem \f\’g_
1 47m 184 m
1%

o

85 cm

;:O)\6+z“ [ +6-F45.€ £1.9 FLI T

F{e. T / ( . A b |
7 T2 A= IS x 1.5
=43 Y 5 Y ]
= §26 . 676 &7
= hiTpe o DB 1A
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Chris has made a circular cushion of radius
20 cm.

!\)

Lace to be attached around the outside
1 ..
edge needs to be 2; times the length

before being gathered up to fit. What
length of lace is needed before it is
gathered? (Answer to the nearest cm. )

2 @%erv%jr 6\515‘7 e (u%)

2% wiRST7 = SIQ 16 can /Clbf’)
The lace needs 4o ke 3i‘1‘<m/m n/k:?ﬁ”‘t )
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4. A kite is inscribed in a rectangle whose < 7. Find the area of the regular octagon, to the
dimensions are 70 cm and 33 cm. What is nearest 5 cm’.
the area of the kite?
] -
23 3‘3’(#‘3
Tcin,
Gire o = Y% 370 %33 /
= HSSem” ' ; proa = 6273

/V/{E.S'cw,? \/4\5 Mares“r’r‘r@h‘/\

5. A rhombus has an area of 86 cm”. One
diagonal is 12.9 cm long. Find the length of
the other diagonal.

o 47”7 ge {129 5""’"3ﬂ> { chocke !
) S X (3% v
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6. The figure below has been cut out of a

circular sheet of cardboard of radius 15 cm. S 3, WV i
7. -{' '
75°\/75° Vall A /
2 i5ean A\ Sty \/-‘ 2%@133 b/t Ry
B Arcse 135 x 2mr 3,:; 343¢ N MQ?Z‘ \ f/‘f e
w6 360 = ISR \\\ v =313
NS . —- [ :
a. Calculate the perimeter, to 4 %}"W';—'”W;}\ - 6265(
significant figures. Derimeter (Mj ' A IR
w202 d TS = Ares # ExBom O )
G (a5 735+ e (L3-Sl =
- . £3 . . \ ' . /’—«———‘
P'A %;“’596;1/\ ."_"1254'3 C'IZ'G4J.£,) /Z .
avea = 6273+ &L 6y
he area, to 1 decimal place. = 125 .37 ¢em
VY ol T(\’LD/% ) = LS (""b re Queld ;Cm)
. _ 3 Secfons €
06.84 = &X 135',(7;(/5-)

~ ¥ 265
= (copr) = Begh o (ol dp )
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